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DIRECTIONS:

Do not open this booklet until you gre told to do so.

This 18 a test of your competence in high school mathematics. For each
probiem there are listed % posgsible answers. You are to work the problems,
determine the correct answer, and indlcste your cholce by making a heavy black
mark in the correct place on the separate answer sheet provided. A sample
follows:

1. If 2x = 3, then x eguals:
) e/ (235 (3)6;

(4) 3/2 (5) none of these.

1.

i
R

The correct answer for the sample problem is "3/2", which 1s answer {4);
so you would answer this problem by making a heavy black mark under space 4 as
indicated sbove.

If you should change your mind about an angwer, be sure to erase completely.
Avoid wild guessing, as wrong answers count agairst you. Do nobt mark more than
one answer for any problem. Make no sgtray marks of any kind on your answer sheet.

When told to do go, open your test bhooklel to page 2 and begin, When you
have finished one page, go on to the next. The working time for the entire tegt
is 80 minutes.



(w2x + 1)(x - 2) = x(5 = 3x)} can be expressed as:

(1) =5x% = Bx - 2 (1) (x +N2)(x «+2)
(2) (x =4 = 2)(x - b+ n2) (5) ~50x= + %)

(3) (x =2}z -1)

If a™! -1 is divided by a =~ a”™* where a is neither O nor 1 ,

the gquotient is:

=1 - (8 +1)
(1) g + 1 (4) TToa
! (5) none of the sbove
(2) a + 1

(5) (l - a)éaa - l)
&

If A and B are right circular cylinders, if the height of A ig twice
the height of B , and i1f the diameter of the base of A ig half the
diameter of the base of B , then the ratio of the volume of A to the

volume of B isg:

(1) 8 () 2

(&) 2 ) 1

(3) 3

If x> 0 and 1ogX 9 = -2 , then x equals:

1) % (W) g

() 81 (5) -3—

(3) 3

Town A is 60 miles from town B . If a car travels from A to B at an

average speed of 20 miles per hour and returns tc A at an average speed of

30 miles per hour, then the average speed for the entire trip is:

(1) 25 MpPH (1) 50 MPH
(2) 24 MPH {5) not determined from the informstion
given

(3) 26 MPH



10.

The product (%)“ Ex Eﬁm X C%)
1) 7

i )
(2) 22

If the sides of a triangle are

the altitude to the 5
(1) 2.4

(2) 1

() £6

If o dis 6 and b i

(l|) I
(5) %—9—

in., 4 in., and 5 in. in length, then

in. gide hag length:

5 2, th

Yy p &

{5) none of the above

-

Ja Ker(a w»g)wo h Py XWa - b is:

(1) Tz
() 8¥e
(3) 8

P

1 ——
Y b

{5) none of the above

Tf the circumference of a circle ig egual to the perimeter of a square,

then the ratio of the area of the sguare to the area of the circle is:

i
(1) >
(2) 4

70
A
() 1
In the figure below, if ABCDEF
then TG has length:
(1) 1+ éﬁﬁ (2) 1+ 23

C 7 R
1
A

~
g
e
R

is a regular hexagon and AB  has length 1 ,

(3) 13 (b)) 2 (B) 3

(not a sgealed figure)




1L

12.

ih,

15.

16.

18.

19.

The value of 810823 ia:

(L) 5 (2) =2 (3) 8 (LY 125 (5) none of these
3

The coefficient of xay‘

(1) ko () 10 (3) & (h) 5 (5) 8o

in the expansion of (2% + v)% is:

The number of positive roots of the equation

x* b x® - 3%® e lx o« b= 0 s

1ty o (2} 12 (3) =2 ) 3 (5) k

w2 = % , then X is:

)y 2 () L (3) it () % (5) - %

The perimeter of a regular hexagon ingeribed in a circle of radius 1 ig:

1) 6  (2) 642  (3) 82“['5 ) 16 (5) kA2

tan 500 is egual to:

(1) tan 130° (2) 2 tan 25° (3} = tan 100° (4) tan 30° + tan 20°

i

(5) tan 230°

An automobile travels one mile at the gpeed of 30 MPH; now fast must the

driver go during the second mile in order Lo have an average speed of 60 MPHY

(L) 60 (2) 150 (3) 90 {4) 180 (5) impossible

if a,b,c,d are all real numbers, then (a + b)(c + d) and ac + bd are equal:
(1) never (2) always (3) when a = O (4) when ac + bd = 0

(5) when ad + be = 0
b
8

If 0<a<hb , then (%) st

() 2 (2) =2 (3} less than 1 (L) more than 1 (5) impossible to say



de snd s, b, and ¢ be the

Lot A, B, and ¢ be the angles ol a

L o RG]
gpectively. Tf B = 1207 ,

Tengths of the sides opposite

o = . S .
Cw= 157, and B =6 , then a s

The solutions of  [x]”

(Ly 5.2 {2)

Te #{x) = log. x  and alx) = ain =,
(1) L {pYy b 3y L Yy ok {5) not defined
Assume:  {a)  ALL unripe frullt is unwholesome.

(b) These apples are wholesome.

(¢} Ho fruit grown in the shade is ripe.

Then:

toesome Truit dg prown in bthe shade.

2} These apples are unripe.
)
/

it dg grown dn the shade

Hips £
These apples ware nob grown in the ghade.

Uhwholesome Drult is never grown in the shade.

LF an abtheletic department charges $.8% per tickeb, 5,000 spectators will

ol $.0%  added te the price for admission

abbend a basketball pames; and

the atbendance will be cub by 200, w omueh should the deparbment charge Lo
u b

i gake receipbs 4F the arvena sests 8,000 people? (Assume that the
() 4,85 (5} $.50

gt ma

price per tickel will be at leasit &

(1) $1.00 2y 4.5 () 4.

In & certain state the Dirgt a person’g income s not taxed; on

the next $5,000 of income, bthe tax iu 2 per centy on all dncome over

his income is:

$7,500 the Lax is 9 per cewt. IF a person pays o tax of $565

12,000 {5) $12,800

00 (%)

(1) $3,750 () &




26.

27.

28,

29,

30.

In a pile of logs, each layer containg one more log than the layer above
and the top layer contains exactly one log., If there are 820 logs in the

pile, then the number of layers ig

(1) b (2) 15 (3) Lo (L) 20 (5) =1

If a coin is flipped 50 times, the probability that "heads" will turn up
at leagt once ig:
' ) 1,50 1,50 1 1 1
R e ‘ o E ¢ AL . 1 1
1) 1~ () (2) () ) 5 W) 555 6 = -
A merchant has some coffee worth $.80 per pound and some worth $.90 per
pound. How many pounds of each should he use to make 100 pounds of coffee

worth $.88 per pound?

(1) 20 1bs. of $.80 coffec (2) 80 1bg. of $.80 coffee
80 1vs, of $.90 coffee 20 1bs. of $.90 coffee
(3) 50 1bs. of $.80 coffee {4) 30 1ibs. of $.80 coffee
50 1bs. of $.90 coffee 70 1bs. of $.90 coffee

(5) 70 1vs. of $.80 coffee
30 1bs. of $.90 colffee

The average of a set of forty numbers is 75 . Ten numbers are dilscarded
from the set so that the remaining thirty nurbers aversge 85 ., The average

of the discarded ten numbers ig:

(1) 8o (2) 65 (3) b5 (&) 50 (5) 60

Let the operatlon ¢ be deflined Ffor positive integers by:

a ®¥b = ab

Comsider the following statements:
(a) a%¥b=>bxa for all posgitive integers a and b .
(b) (a%®Db)*c=u2ax(bxc) for all positive integers a and b .
(¢) The positive integers are cloged with respect to » .

Choose the correct answer.

(1) (a) and (v) are false, and (c¢) is true.
(2) all are true.
(5) all are false.
{4) () and {c¢) are true and {a) 1s false.

(5) (&) and {(c) are true and (b) is false.



3L, In the triangle ABC , the angle C equals
c the sum of the other two angles. D is a

point on AB such that AD = DB . Then

(1) DC bigects angle C .
(2) L DCB = £ B

B
N A— D (3) LD0B =LA
(4) £ DCB = £ BDC
(not & scaled drawing) (5) WNone of the relations is true.

32, Tangents AM and AN are drswn to a circle with center O from a point 4

outside the circle. The radius of the circle ig 1 in. and Z MAN = % L oM

The length of A0 ig:

{1) J% in.

~~ A (2) (1 ++2) in.
o (3) JB in.
(%) 2 in.

(5) 1 + %JB in.

(not & scaled drawing)
3%, One diagonal of & rhombus is 8§ inches, and the area of the rhombus is
24 square inches. The length of the other diagonal is:
(1) 3 in. (2) 246 in. (3) 6 in. (%) 8 in.
(5) not determined.

The diagonal of a rectangle is 13 inches and the perimeter is Zh inches.

A
T
i

The area of the rectangle is:
(1) 60 sq. in. (2) 55 % sq. in, (3) 72 % sq. in.

=

1.
(L) 110 5 sq. in. (5) 73 3

8q. 1n.

35. If x is sn integer end the relations 2x m'Jé <6H ,and 1 - 2x < b
hold, then the value of x  is:

(1) =3 (2) 4 (%) 5-%- Ly =3 (5) not determined
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Triangle ABC 1is an equilatersl inscribed
triangle. P 1s any point on the are BC ,
A and PM = PB , Then PB + PC is the same as:

(L) BM

(2) AB

(%) AM + MC

B ¢ (4) BM + MC
P (5) PA

+ MA

(not a scaled drawing)












